EmERT

4

32% =

80% =

72% =

98% =

99% =

48% =

98% =

6% =

79% =

54% =

52% =

45% =

35% =

96% =

37% =

63% =

3% =

81% =

89% =

27% =

www.snowmath.com



https://www.snowmath.com

DROR R g

G

0f —
32% 5

80% =

nl =

72% = —

980 — -
°7 50

oove= 2
°7 100

48% - 2
Y

089 = 2
°7 50

0 =
0% 50

o= 10
°7 100

o=
°7 50

2= 3
°7 25
45<V=2
°7 20
=]
°7 20
sev= 2
Y
e 3
°7 100
o= 6
°7 100
304 = o
°7 100
s190= 5L
°7 100
o= 8
°7 100
27<V—£
°7 100

www.snowmath.com



https://www.snowmath.com

